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4. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough
work, if any, may be done in the question booklet |tself Answers Must Not be ticked in the
question booklet.

5. Use only black or blue ball point pen of good quality in the OMR Answer-Sheet.

6. There will be no negative marking. Each tofrect answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be
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1. The economic reforms outlined by Dr. Manmohan Singh had a distinct component of :

(1) Fiscal stabilization , (2) Banking sector loans
(3) EDL 4) FIL '
Slo AAET Rig & gRT e Quri &t Wi 78 v § e 9= srayq o
(1) ST Rerdrareor @7 () T B A B
(3), vger faaeh faw &1 (4) A< HwRmTd {99 &1
2. The New Industrial Policy announced on July 24, 1991 dismentaled :
(1) The Indﬁstrial Licensing (2) The Tariffs
(3) The Custom Duties (4) The F.D.I limits
Sers 24, 1991 &1 Bt @t ¥ 93 irenfie Y § faaves fFar ma
(1) 3irenfire AR &1 (2) Rwt @7
(3) <1 ! & .. (4) faesh yeuer fwr &) drmeli &1
3. The National Rural Employment Guarantee Act was passed in :
(1) 2004 (2) 1991 (3) 2001 " (4) 2005
- IS YT SRR RS Ve 91 fohar T
(1) 2004 % 2) 1991 ¥ (3) 2001 4) 2005

4. The physical capital that underpins economic growth and development is known as :

(1) Sustainable capital (2) Economic capital
(3) Base capital (4) Economic infrastructure :
Hfew Gt S ot 9fr T SR T SR Ao R, SR ST o &
(1) e goh (2) 3w Yo '
(3) s o (@ STRfw TR Ghen
5. "Overseas investment by ............ is named és- foreign direct investment”. One of the

following will complete the statement correctly :
(1) private multinational corporation (2) foreign government

(3) foreign bank | 4) fdreign investor
PG-EE-2013/(Commerce)(D) ' ' P.T.O.
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(1) foft agRrsar rrey (2) faseh wxaw
(3) fac=h ¥= = (4) fresh frwe

6. What is the main purpose of subsistence agriculture ?
(1) to satisfy the personal consumption needs of households
(2) to satisfy the pefsonal coﬁsumption needs of weaker sections
(3_) to satisfy the group needs of edible oils and foods
(4) to produce excess wheats and grams
siftees BfY 1 T Sg3wT T B } ?
| (1) oRaR & BfdaTa ST B Sexal Bl R/ BAT
— () T = B it B R ST B T B @ B
(3) TR A A T Ao A ravaBR B ORT AT
(4) a@ﬁmﬁﬁﬁaﬂﬁmm

7. Accounting for cost is based on :

(1) Single entry system (2) Costincurred system

'(3) Double entry system I (4) Mix entry method

drTdl @ forg oraiee emnRa #

(1) T&a ufdfee gomel w (2) <TTE SYT HOTSAT TR

(3) f-sffe yomeh w ! (@ P sRfe e w
8. Conversion and administration costs are categorized as : |

(1). activity costs % - (2) running costs

(3) functional costs : (4) periodical costs

RRYTRYT AT SRS ATl 7 aeffenwor foar o 2 -

(1)%?1@31?11@@26@# (2) =T AFTAl @ ©9 A

(3) PHIHS Nl B w9 A (4) ARe @rTd ® w9 §
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(Average Rate of Consumption per day x Maximum 'R_eofc-ler Period in every
emergency purchases) is equal to : S '

(1) Danger level of inventory (2) Average stock level

(3) Reorder level (4) Minimum stock level

ffE sirra wAT & R x TAS AT HA H AT I arzévwm)w%
(1) €6 D TR D TR D ) ohwa Wi TR B

(3) T MR &R & (4)25111#@1@':5-@??5*

(Prime cost + works overhead + opening work in progress - closing work in progress)
tells about :

(1) Cost of goods sold I (2) Cost of goods prodﬁc'ed
(3) Works cost (4) Manufacturing cost

(i @ + B I T + AT B BT ARG A9 — mqwzﬁraxﬁaﬂﬁq)
g -

(1) ¥ E axge B o b AR H (Z)Gwﬁﬁaﬂaﬁﬂﬁmzﬁaﬁﬁ

(3) & AT @ AR H (4)ﬁﬂ‘rﬂﬁamﬁ$_aﬁﬁ'
Which one of the following is the Accounﬁhg Standard for the Amalgamations ?
(1) AS-17 D) ASI0 (3) AS-15 _(4) AS-14
o ¥ ¥ P91 oRFiBT T TGO B g § ?
1) TwE17  (2) TTE19 (3) T TE-15 (4) T TH-14
Reconstructioﬁ Al/c - Dr. Rs.25,000, .

To Premises A /c - Rs. 25,000

" This journal entry at the time of reconstruction indicates that :

£

(1) premises were written up by Rs. 25,000
(2) premises were written down by Rs. 25,000
(3) reconstruction a/c was abolished .

(4) premises were sold out

PG-EE-2013/(Commerce)(D) e P.T.O.




rfrﬁtrh @ TSR el SDE 725,000 %o
BT HT W@% LRI 25,000 %o

i & @ a5 Sfafe aTh &

(1) s AR @ 25,000 To 3 R

(2) wa aRER ﬁuzsooo To A & fagrr

(3) aF gRTR rgﬁ ﬁ AT B &

@) muﬁmaﬁzsoowoﬁaaﬁm

13. “The Ieft hand sxde of the Balance Sheet represents :

(1) Capital Structure (2) Capital Level .
el s foirfw Eo Eel :

(3) Financial;Strycture. ; (4) Gross worth for outsiders

g & TR TR Prefia o §

(1) 7 3 1. (2) T wR 31 |

o TR (@) T @t B g waer o A
14. A capital structure restrlcted to claim of the equity shareholders, is called :

(1) a comple_tig ;:abpltal ,structm:_e_ (2) a complex capital desugn

(3) asimple, cap;tal structure (4) an equity structure -

Wﬁmmwmmmﬁﬁmmﬁ%@*%@ﬁﬁ%‘

(1) v Frgel gof @ e mwﬁrﬁafﬁrﬁw |

(@) T T G g "X (@) e

15. When there is use of fixed charge securities in the capitalization of a company then

that is knownas i 0! @ e
(1) long term capital (2) operating system ca_pitai
(3) financial leverage (4) financial structure
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o TR B YO # o v R ) R T R S €, S SR S o R

(1) o= omafer a1 doft & (2)qﬁﬂra=rua[%rqgrﬂ¢r
(3) foxhg Soe® o (4)1%?%31%4@
g 5E v

Credit and collection pohmes of an orgamzatmn mﬂuence

(1) workmg capital requirement  (2) capltal structure

(3) capital size | . (4) capital rmx ?
wwwﬁrqﬁmaﬁ%maﬁ)mﬂﬁﬁm%

(1) = Lot @ smaeasar 1 mwﬁwaﬁ

(3) Yot SR b1 (4)93»%&%@

The internal rate of return of a project is (i) ........ Wthh irixerket net present value
equal to (ii) ..c........ . Fill in the blanks correctly from the following :

(1) Normal rate in (i) and profit at (ii) bt @5t

(2) Discount rate in (i) and zero at (ii)

(3) Interest rate in (i) and normal rate at (ii)

(4) Interest rate in (i) and zero at (ii)

v IRAG BT ARG FAET T (i) coere B & S SEBT gAHE BHT B (i) e ;
zﬁwwéﬁr%ﬁmﬁﬁaﬁawmﬁﬁﬁwwﬁaﬁqﬁm?

(1) (i) ¥ 9 &R 3R (i) § o™
@) () T2 T o (i) ¥ I

(3) (i) ¥ =1 & AR (i) F A R

-y
|,
1 Ly

(4) (1) ¥ =T &R 3R (i) § @™ s
Given : Face value of a share = Rs. 10. Issue expenses = Re. 1 per share. Consistent rate
of dividend per share = Rs. 4. The company plans to issue new shares at Rs. 20

premium.

‘What will be the cost of new equity share ?

(1) 9% (2) 13.79% (3) 12.89% .ot (4) 26%

PG-EE-2013/(Commerce)(D) : {FH P.T. O.




i | e D
V : :
frar & : o7 &) Bes g =10 %o | Frifem & @ = 1 o Ry 3fFr| ANAiE B UHAS X
= 4 %o fAifig H=AT arEdl & (73 3|
T |HAT I B AN oG B P -
(1) 9% (2) 13.79% (3) 12.89% (4) 26%

19. Cash paid to supplier for goods purchased is :
(1) outflow under operating use (AS-2)

(2) outflow under investing activity

(3) outflow under financing activity

(4) outflow under operating activity
ﬂrﬂ@ﬁ%iﬁiﬂﬁﬁaﬁ%—cﬁaﬂwﬁm (@de W) T8 ¢
(1) 9T€1 ¥19 Yo THo-2 % ded uRarer wiiT 8

(2) wifeats P frar & s & '

(3) aifRafe faxfgexor fFar & srfa @

(4) wiftafe aRares aﬂn B AT B

~20. Which one of the following is considered as short term solvency ratio ?

(1) Activity ratio ~ (2) Capital Employed ratio

(3) Current ratio | | (4) Proprietary ratio

fopg F § FH-A1 ST Uy P AT B fog e ST 8 ?
(1) B s | @ T, Fefr s

(3) ey S (@ T S

21. Which one of the following Resolution cannot be passed by circulation ?
(1) Filling the relative of Secretary's post

(2) Filling the post of Control Auditgr

(3) Fiil'mg the casual vacancy in Board
(4) Issue of houses to Directors

PG-EE-2013/(Commerce)(D)




ﬁwﬁﬁaﬁ?—wwmmw TET P11 bl & ?
(1) S 5 e e AT

(2) FI=01 3iPetd B TIE WA BT

(3) I ¥ HRAS @ TE AR BT

(4) FaTer} BT Wt e @Y 3

A Public Company with paid up Capital of Rs. Five Crores or more is required to
appoint : S

(1) a company secretary

(2) MD under Section 298-A

(3) Audit Committee u/S 292-A

(4) Cost and Works Accountant u/S 292-A

e e A1 O e U Y e Ioh areh W SR R ordem @ o @ -
(1) vo Tt wf e o=y @ -

(2) URT 298-A B e To S Frga wwd H

(3) ORI 292-A & TEd Siderv AR Fgaa s B

(4) ST U9 &1 oRETBR BT AR ORT 292-A & s

23. The Domicile clause of a company is contained in :

(1) Articles of Association : (2) Memdranduﬁ of Association
(3) Incorporation Letter t4) Companyfs.gfharter
% T B AR @usary sl B # |
(1) YRee-omg®e § (2) Hew 3w YefRer
(3)@1%:33@# ' (4)a¥q?ﬂ$mévﬁ

24. Secretarial practice means : >
(1) Practical aspects () Ofﬁce—design of the company
(3) Meetings of every type (4) Agenda writing of the meetings

PG-EE-2013/(Commerce)(D) PI.O:
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ifafas oM I=fa g

(1) wERE T Y (@) T & BrRieE-aRET

(3) ¥P PR B AT H (4) Afewt & goler foa |
25. The 'Register of Debenture holders'is : | :

(1) astatutory reg1ster (2) a corporate kind of register

(3) an informal reglster L (4) aregister of issue of bénds

FOGFRIRD] BT IEX BT ¢ -

(1) v wifdfe e - - ) 1T FriRe R B RN

(3)@2531%?1@?5?1%1@- (4) et B e @1 ARReR

26. The sanction for reissue of Debenture is made by :
(1) Special Meeting;of Directors (2) Annual General Meeting
(3) Board of Directors . (4) Ordinary Resolution
st 1 g R R AR AR e
() e @ R ART S g () ARSI W R
(3)Wa‘r@‘m & (4) \EROT FKTE GRI

27. The Histogram can also be shown asa:

(1) Freqﬁency Gram (2) Frequency Polygon
(3) Ratio Graph ' | (4) Frefuency Graph
Wﬁ%ﬁﬁwmﬁﬁﬁ%@mwm%
() sfram £(2) sy Tgy
(3) 3T UTD - (&) s TS

28. X =m-i(F-1) isunder: e
(1) Charter Method (2) (_Zharlier Method

(3) Summation Method (4) Laplace Method
PG-EE-2013/(Commerce)(D) '




31.

X =m-i(F-1) F1 =1 & afqia =1 o & : - . & tafie

(1) =R fafr he: (@) =i AR s
(3) Haer A : (4) oo AR o
. . Which one of the following is called 'positive average'? . .
(1) Geometric Mean (2) Harmonic M‘??“..-,, _
(3) Median (4) Weighted ArlthmEl;IC Mean
Fr % & Bra SRR S e
(1) i sher @ wewaRd
(3) wfeasT | (@) wRe T SR

(c+X) is known as :

(1) Standard Variate Coefficient .  (2) Coeffment of Meéan '

(3) Variant Coefficient (4) Coefficient of Startdard Deviation
‘(c+f)zmrmrm%:.

(1) ST R o W @) s B TIE A

(3)1Tﬁaﬁ?wﬁ (4)wﬁw=r$=zgy§

When a manager exercised kindliness and ]ushce in deahng wrth hdis subordinates,
then it indicated that he believed in :

(1) Cooperation under Scientific Rules w xloals o
(2) Democratic behaviour urider Motivation FLIRTe
(3) Huminity ‘s :

1.9 .

(4) Fayol's principle of 'Equity’

mwmﬁmﬁa&ﬂﬂ?&ﬁ%wwﬁ%’!?mwﬁqulgdlﬁa‘rrmuiﬁrqlowﬁqm ar
I TURT BT & 5 gz favam w@ar 2

=

(1) wEanT defae fAageR A

(2) ROM B IRTIA ANBeD AGER H T
(3) #rgar #

(4) ts?ﬂaa%mﬁiaﬁﬁ
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32.

33.
34.

35.

r

Work study, time study and the fatigue study were conducted by :

(1) McGregor =~ (2) H. Fayol

(3) F.W. Taylor | (4) K.O. Donnel

S ST, WA SR R T A BT e A T

(1) %% IR gRT (2) Tho B ERT

(3) THo S&Yo TR BRI - (4) Do 3o S ERT
'Managgment by Objé.c!tﬂives' is also known as : - I

(1) Manégement by Settings (2) Management by System
(3) Management bj_z Exception . (4) Management by Results
FEeTdl g1 e e W U IR A W W ST 2] 98 ©

(1) wgRmEl g1 ge (2) WO ERT HEH

(3) 9ATE BRI FATH,. (4) uRvmHT gRT de7

"Two Heads are better than one.' This maxim is used for :

(1) Group pIaTnmng i | 2) Management by chahges ;

(3) Group funchomng principle  (4) Human approa‘ch of management

< ke ' S A ¥ [ TE T s A o ot

(1) 9 SHTT &g (2) oRadHT gRT S &g

(3) wE BRiGRT Rig 8 (4) war & ArTEan Rigr 8g

Employees ........ .and resist control. One of the following will cdmplete the statement
correctly. Which is that ? £ SN '

(1) avoid  (2) defer (3) dislike (4) hate

kAT e @ e SRk SRR AR # | P e g W @k ?
(1) W & (2) eTe © " (3) AIUHE FRA & (4) O BN §

An inner state that activates, directs, sustains and steps behaviour toward goals is -
called :

(1) Motive - (2) Instinction (3) Zeal (4) Courage

PG-EE-2013/(Commerce)(D)




qon el 81§ PEd T |

(1) SRS (2) 7wt @) w4 S|E

An autocratic style is also known as :

(1) Complete style ' (2) Essential style

(3) Benevalent style : (4) Direcﬁve st__y_lrg':: N

(1) sl def & @ s A

(3) e e (@) P YR E

'Power is supreme’, is the most important theme of : ey

(1) Theory - Z of motivation (2) Theory - X of leadership
s (3) Theory - X of motivation (4) Theory of power style

(1) 3FpRT & Rigra-ors &1 (2) g B Rigra-vad a1

(3) fnRYr & Rigra-vad &1 (4) w2l & Regrt @1

A notion which includes all types of interferences between t:he-_-_,.transmission and the
reception of messages, is called :

(1) Distortion (2) Noise (3) Conflict (4) ‘Barrier
T SO S B R B EA B WaRY F e aedh 8, 99 FEd §
(1) fopfd (2 =R (@) fdm . pafd). FEC
. Induction s associated with recruitment and .............. . " ek
(1) Training (2) Development (3) Appointn{(.ent' (4) Selection .
SR TR & R R e e e
(1) wf¥meor | (2) SHE ¥ 3) frafe | (4) 99 ¥

If an Assistant Commissioner of Income Tax imposes the penalty of more than
Rs. 20,000, he will have to seek permission from : '

(1) CBDT (2) Chief of Central Zone

(3) Commissioner of Income Tax (4) Joint Commissioner of Income Tax
PG-EE-2013/(Commerce)(D) - ' P.T.0.
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_ﬁmww%zo&onmﬁaﬂmwwﬁw% a1 99 g9 oy
st o Bl

(1) ﬁoao:-srqaoﬁ_ @ vu e B R

(3)wmﬁww# 3 (4) T WY BRRR
42. The rate of educatlon:cers on md1v1duals is:

(1) 3.8% on income tax amount (2) 3.5% on taxable income

(3) 4% on taxable income' ~ (4) 3% on income tax amount

afat (PRaTa) Y e ST B &R E - _

(1) 3mSR Bt -nf%r R 3.8% (2) 3T (FR-ATY) W 3.5%

(3) HR-AMT I W 4% (4) JMIB &I ?‘uﬁf ™ 3%

43. Examination of the nature, extent and efficacy of the system of internal check and

central is a procedural step of :

19311 : i
(1) Audit Control : (2) Audit Programme

(3) Audit Proc:edure - (4) Statutory Audit
Wﬁmaﬂiﬁcﬁwa’ﬁuﬁ ﬁwmmﬁmwﬁmmﬁ%
(1) siperor =1 &1 (2) 3HeroT YU B
@) e e - (4) BT SeberT b

44. Which one of %h’ef followmg audits is made on the basis of ob]ectlves ?

(1) Internal audlt . __ (2) Management audit

N
(3) Annual audlt ' (4) ],'nnﬁrlm audit
ﬁﬂ#ﬁaﬁﬂ—wmwaﬁw‘r%mwﬁmw%?

(1) sTR® oA TX () e st
(3) TfS® AHeoT. . (4) IR Seperor

45. An Auditor's plan of action is known as : )

(1) Audit Memorandum ' : (2) Audit Budget
(3) Audit Statement (4) Audit Article

PG-EE-2013/(Commerce)(D)
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D
3fcberes @ g @ IS BT ST Il ®
(1) P& FANSH & 1 4 (2) 3fBeT gofc B AT |
(3) siden fawe & T F @) a‘a}maﬁa%’ma
46. A written plan containing exact details regarding the conduct of particular audit is
known as : an-rroHEs
(1) Audit Details ' . (2) Audit Mer'ﬁar’a-hdum
| (3) Audit Programme | (4) Checking Plan
WW@W%Wﬁmﬁmﬁwfaﬁﬂﬁmﬁﬂﬁﬁﬁwﬁﬁmaﬂ%
I ST AT §
(1) e faRor & . (2) e WREH &
| (3) 3rPHeToT U A (4) AfFT AT R
47 A documentary evidence in support of a transaction wrltt;_f:n the books of accounts,
is called :
(1) an Indent (2) aReceipt (3) aLedger Folio~ (8" a Voucher
_?wﬁﬁ%@#w@ﬁmﬁm%ﬁﬁmﬁﬁmﬁ% T HEd
(1) T g7ise (2) & WIT (3) TS oo Bl (4) TP dEHTR
48. "Audit report is a summary of the condusions as derived from collected and
considered data in .............. ." Which one of the following will correctly fill the blank ?
(1) Auditor's opinion (2) Auditor'ssignafﬁ;é sheet
(3) Audit para (4) Audit sheef it
“afeperor RaE .. Wﬁﬁ@ﬁﬂwmwmﬁﬁm@ﬁﬁmﬁﬁaﬁwﬂ
| (ﬁlﬂ‘f@)Eﬁ?ﬁ%r'mﬁﬁwﬁﬁﬁfi’qwﬁﬂﬁﬁ‘rﬁﬁﬁ—wﬁmﬁm?
(1) peTd & o o | (2) oiderd B TR Wie A
(3) siweror U=T H (@) seror o #
49. A breach of duty or trust involving the company in a loss, is called : .
(1) Misfeasance (2) Misdeed (3) Misbehaviour (4) Offence
PG-EE-2013/(Commerce)(D) _ : P.T.O.
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WmmmWWWMﬁﬂﬁ@ﬁﬁm#ﬁﬁ%:
(1) SATHRIT (2) TR (3) HETER (4) FORTR

50. The first auditors of the company are generally appointed by the :

(1) Shareholders - (2) Creditors and Debtors

(3) Board of Directors (4) Chairman of the Company
B wo sided! @ Frgfk AEROTRN B W ©

(1) siemnRat & ERT - (2) AERT T GTART ET

(3) HATEP AUSH ERT ' (4) N B AARAT GRT

51. The 'Standard Money' is a class of :

(1) Paper Money ~ (2) Fiate money
3 Token Money (4) Metallic Money
o :
(1) @rTst A g Seh A (2 W g A AW
(3) <rpe TaT B AN | g (@) urg @ a1 Aol A
" 52. Liquidity trap is associated with demand for money and the :
(1) Level of interest rates (2) Keyne's tl'{eory
(3) Gresham's law - (4) Supply of money
Zadr Bre TR § a1 @ A W 3R -
(1) = =& B 'R A Q) @@ R
(3) ¥ B Fraw _ @) = o ¥
53. The cohtracﬁon of Bank Credit and the volume purchasing power indicated :
(1) inflation (2) recession * (3) deflation (4) contraction
o @ wra o AR @ ARA B I B & |
(1) HaT R () e . () IR a4 Hegad d
54. Which one of the following is not the constituent of money market ?
(1) Commercial Bank - - (2) Credit Rating Agenf:y
(3) Acceptance House (4) Non-Banking Financial Instituﬁon §

PG-EE-2013/(Commerce)(D)
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57.

55.

' 15
1 % | BF-91 957 IR &7 Fuch Tel © 7

(1) =aR® §& () g fFgae o

(3) Wl sew | (4) sdfeT fach wvemy
Nationalization of Banks is also called :

(1) Socialization of Banks (2) Generalization of Banks
(3) Secularlization of Banks (4) Democratization of Banks
(1) $t B FEET f () ¥t B wERRERO 9@

(3) ¥t BT AT (@) It B1 R 4

Nethremlaah . is one of the main weapons with RBI for controlling cred1t in the economy."
The blank space will correctly be filled by :

"' (1) Monetary circulations (2) Banking operations
(3) Open market operations : (4) Credit rationing
aﬁwﬁwﬁﬁw%gmoﬁoa@oa%w- ................ TE TE ERER B el
RN H e Y W T GrraTrr , -
(1) M aReTeH (2) ¥ frari
(3) e IR b (4) arg B T
The nationalization of RBI took place in : |
(1) Jan., 1948 @) Jan., 1949 (3) Feb., 1950 (4) March, 1950
S0 o Mo BT ITLTATHOT T - ;f' |

(1) a1, 1948 §  (2) wi=aw), 1949 # (3) HRANY, 1950 (4) =4, 1950 #
The 'Lead Bank Scheme' was mtroduced by.: % - .
(1) RBI

(2) SBI | 4

(3) Gurgaon Gramin Bank

(4) National Bank for Agriculture Reconstruction and Development

PG-EE-2013/(Commerce)(D) : B.T. 0.
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59.

60.

61.

62.

Arfass ¥6 WA o B T ;
(1) 3MRo do g0 ERI

(2) THo dlo 3MFo BN

_-(3) et TrEer 9 g

4) Tﬁaﬂﬁﬁhwﬁm$ﬁwmﬂ$m

A sustainable annual increase in GNP at rate varying from 5% to 7% or more is called :
(1) Economic Growth ' ' (2) Economic Development

(3) Economic Rebustness (4) Economic good health

Wv@awﬁ?/ﬂ#mﬂﬁmma@ﬁmﬁmqﬁawm%ﬁ% ?ﬁe-@t
HEA ©

(1) anfd® gfE (2) anfdfe wfar

(3) e el : (4) snfdie ot dEa

The First Five Year Plan was launched in :

(1) April, 1950  (2) April, 1951  (3) March, 1948  (4) March, 1951
gEel Joasiy AT WS @ TS . | .
(1) o8, 1950 §  (2) @i, 1951 % - (3) A, 1948# (4) w4, 1951 4

The price quoted for further future production is called :

(1) Tender price 2) Quotation price |
(3) Supply price ' (4) C(}n)petltlve price
¥frs & g SeTed X @ i 9gd 5y §Y A1 B FEd ¥
(1) ffeer 7= * %) SET A

(3) I T (@) v e

If the contract price = Rs. 2,40,000; National profit of the contract = Rs. 10,800; Work
certified = Rs. 1,20,000; Cash received = Rs. 90,000. What amount of national profit
will be transferred toP& L A/c?

(1) Rs. 4,500 (2) Rs. 10,800 (3) Rs.7,200 (4) Rs. 5,400

PG-EE-2013/(Commerce)(D)




D : ! ' .

A S B = 2,40,000 Bo; PIedl-h TH I WA BT = 10,800 Bo; FHIIT HIE B
AR = 1,20,000 Bo; THT G = 90,000 Fo &, o aMEFM Wid 3 m%mimﬁmm
fewr s ?

(1) 4,500 %o 2) 10,800%0  (3) 7,200 o (4) 5,400 %o

63. When goods are transferred from one process to another by adding some fixed
percentage as profit in it, then profit is called :

(1) Transferred profit (2) Interprocess profit

(3) Transferred profit of second process (4) Clalmed profit

_mwmmmm%mwﬁamwwﬁwwﬁwﬁwaﬂmﬁm
g, O 99 @™ B FEd &

g
(1) sTaRd &9 ) agT{’r UihaT &7 TN AT
(3) TR (4) afrnfRE @

{64, (o Sales) + (Sales — Variable Cost) is equal e
(1) Breakeven point (2) Contribution
(3) Sales at breakeven point . (4) Contribution ratio

(Rl T x fasa) + (fsha — aRad-Riier o) SRR ® ¢
(1) wafawy fag & . (2) 3fe_H &
(3) wwfaesy fag R fwy (4)3%%@'
65. Income Tax Act, 1961 is : S

(1) Revenue Law (2) :Mone§ Laundering Law
3) Ordinary Law (4) Ao B T
IR I, 1961 2 - " |
(1) =y s @ 5w R |
(3) TIReT SR 4) 3T TR fRfRm ' |
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66. Taxable income of an assessee can not be computed unless we know his :
(1) Total deductions under Section 16
(2) Total exemptions u/S 80
3) Residéntial status in India
(4) Age ondue date

MWﬁW—WWﬁWWWWW%WW%WWﬁW
frfafea smart 7 e o -

(1) ORT 16 ® TET D! Hol Heladi
(2) ORT 80 B TEG SHD! Hol BR-Ja A
(3) S RT ¥ AR Rl

(4) FuiRe ifg ) S9! 37

67. Any income derived by a political party by way of capital gains is :
(1) exempted with certain conditions
(2) always taxable
(3) exempted upto 50% of capital gain
(4) 80% exempted
IRE T ERT B of oy ol ol gRT FiE TS 8 < 9%
(1) §B &l & AT FR-Jad Bl ©
(2) & XA A B
(3) 'q";trﬁawﬁw 50% B fierh 8

F A
(4) TSN o 80% FR-Tad BT © j

4

68. Income chargeable under the head salaries is explain under :

(1) Sections 15, 16,17 and 18 " %2) Sections 15, 16,17, 18 and 19
(3) Sections 14, 15.and 16 (4) Sections 15, 16 and 17

Iq9 B T FR-ATT o HT FerRker e § @ f5T aRmelt & dgd ST 8 2
(1) g~ 15,16,17 318 () g5, 16,17, 18 3R 19

(3) uRTY 14,15 3R 16 (4) R 15,16 3R 17
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69. The Standard Rent of a houselproperty can not exceed the rate determined by :

(1) Municipal Corporation (2) Rent Control Act

(3) Tribunal " (4) Central Government

TP AHI W &7y fhRmr sa i & s T8 8 wear o v @ w9 F Peifa
G

(1) ®FRUe SR gRT (2) f=mar = sfafeas grr

Q) fesga gm (4) B TSR ERI

70. If an eligible asset is installed after 31-03-2005 and also acquired after 31-03-2005 the
additional depreciation is allowed : \

(1) at the rate of 20% of cost in installed year
(2) at the rate of 10% of cost in installed year
(3) at the rate of 20% for 5 years
(4) at the rate of 10% fqr 5 years

afq o1 Sugdm W= 31-03-2005 & a6 T U4 w@fid @ 7E @) @ 99 R sfifaw
B WIHd BT § | _

(1) =g &= a1l a9 § 20% & ©®

(2) mgET 99 ¥ S W) 10% @Y &% 9§

(3) dra asf a6 20% P X A
' (4) e ast T 10% A X 9 S
71. variance is equal to : P
(1) correlation coefficient (2) coefficient of variation
(3) standard deviation (;) Amean variation
VIR aRTER R _
(1) FEa= Ui W @) feRr e @
(3) wm fger (4) sive faeRor 9
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[Q; —Median] - [Median — Q; ] = Zero. It indicates that the distribution is ! .
(1) symmetrical | ik non-s_ymmetrical |

(3) binomial ' (4) Poisson

1@ _ wrfeaet] - [Ffea@T - Q1= LA 7E gaqmar @ f& 97 ¢

73.

- 74.

1) s ) srafed &

() fowe & (@) WA R

Index No. = -Zf = yqulql . What will be written in place of 7-¢

? . LPaf
1) Y. pido (2) ZPO‘IQ; @) s (@) > ronh
BSCEaED _ 2P0 2P e fore (7)1 wTE T R w2
: 2 ) poh
(1) 2Pido (@) X.Pofo (3) 2P @ Trom

P_ea.rs'on's coefficient of correlation is aiso known as :
(1) Standardized correlation point

(2) Free correlation

(3) Product moment correlation coefficient

(4) ny .?1 .}?2

iy,

R & wEEE OIS B A I S @
(1) wfe wewE g @ -~

-

() W wEEEY ¥

>

(3) EEE T aEEEE e ¥ .
(4) ny .?1.?2 é
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75. When the promoters are issued shares for company formation services, one of the
following account is debited :

(1) Promoter's A/c (2) Preliminary Expenses A/c
(3) Incorporation A/c (4) Cdmpany Formation A /c
o e @ we Pt A el § R oiw Feif Rl o & o Pt A v oEm
5! sfde far wmar @
1) Pt BT @@ (2) R =t F @
(3) TR @ B - (4) T Pmfo @ @
76. The 'Pooling of Interest Method' of accounting entries is followed in case of :
(1) Merger ' (2) Dissélution
(3) Incorporation (4) Reconstruction
ST @ e R S SReie Rt & Wik B 2, @ see R o &0
(1) @y @ g3 & (2) |HUH @Y g H
(3) |HIAYH P g9 F (4) gAfiator & g9 &

77. Given : Normal profit = Rs. 15,000 (10%); Average profit of 5 years = Rs. 16,400; Non-
recurring profits = Rs. 1,000 p.a.; Present value of anmuty of Re. 1 for 5 years at 10% =
“Rs.3.79.

What will be the value of goodwill ?
(1) Rs.1,416 () Rs. 5,306 (3) Rs.1516 (4 Rs.4306 .

fegr & : |\ & = 15,000 Bo (10%); dra st &1 3iga e & = 16,400 %o; TS
am%_mowwrfaaré lﬁoaﬁsaﬁa}maﬁﬂﬂaﬁaﬁﬂﬁ = 3.79 $o 10% ufe =¥

0) | :
=
ifey &Y JIf3 @ BhfY ?
(1) 1,416 %o ) 5,306 %o (3)-1516 %0~ *  (4) 4,306 %o

78. If the remuneration of liquidator is to be given on unsecured creditors, then the
remuneration will also be given on :

o

(1) partially secured creditors (2) preferential creditors

(3) debentures (4) mortgaged loans _ ‘ ,
PG-EE-2013/(Commerce)(D) _ P.T.O.



22

79.

80.

af RS o1 ARSI SRR FoTaTs o A B dr aR -
(1) i gfer FworaTas w) - far s

(2) SR FEoreTel O o R s

(3) oAt R ot fear s

(4) T o W N &I SR

The dividends received from Subsidiary Company out of pre-acquisition profits
should be deducted by the Holding Company from the :

(1) Cc;st of shares purchase from Subsidiary Company

(2) Goodwill of Holding Company -

(3) Capital Reserve of Holding Company

(4) General Reserve of Holding Company
Wmﬁﬁmﬁlﬁa}mﬁﬁwmaﬁﬁmmﬁﬁwww
(1) s T & W T s A e W

) Frre wd A @y § 9

(3) Fr=e o @ ol dadl § |

(@) o= o= & [ wo §

Which one of the following statements is incorrect ?

(1) Shares are revalued for estate duty after the death of the shareholder :

(2) Shares are not valued for Wealth Tax

(3) Shares are valued when mortgaged { ‘f

(4) - Accumulated profits affect the value of shares .

P f ¥ PR T T E Y~

1) Mﬁﬂ$ﬂﬁﬁﬂﬁfﬁ%§mﬁmwm6!ﬂ%
(2) st BT QAR O o 3 e S

(3) it BT ARA v W ST et A S @

(@) i e, ofel B e @ R A E
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81. General - offer means an offer made to :
(1) World at large (2) National level
(3) World of business - (4) World of contract makersl

HAATY-UTG T 3 ® uarg faar ¢

(1) 7o ol & (@) R E
(3) =R B W ¥ (4) g Y aredt B Wi
82. 'Consensus of idem' means : .
(1) Identity of minds (2) Identity of free consent
(3) Identity of mistake ; ' (4) Free.consent

TH JE FaTHIT BT A7 R |

C (1) RER @ gEeEr (2) FaFEART B BT
(3) T B YPHTHAT - (4) wa= gEEa ' 1

83. Read the following statements carefully : : J
: (a) The discharge of principle debtor will discharge the surety also.

(b) The number of contracts in a contract of guarantee are three.

Now, which one of the following alternative is correct about these statements ?

(1) 'a'and b’ both are correct (2) 'a'and 'b' both are incorrect
(3) 'a'is false, 'b' is correct ‘ (4) 'a'is true, 'byis false
71 wapeFT BT egds ufey ¢

(37) TP T HYIGR BT o meﬂlwwﬁ#?ﬁﬂﬂﬁ“mml
@) TR B IgEEl § ve ey § A s @) A end £
. QT Srame B AR ¥ e ¥ ¥ P e wAE P

(1) 8r gem ¥ < S & (2) 3 qUr ¥ T Td &

@) W T A (4) ‘o Weg §, T e ®
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84. Pledgeisa typeof: g :
(1) Loan (2) Debt (3) Bailment (4) Agency contract
[TA TP TR B 0 i '
Q) FwTE () B @  (3) fRw @ (4) TR SrgE T
85. A breach of condition may be treated as a breach of : '
| ' (1) Warranty (2) Contract
(3) Confidence i (4) Consensus
o1 BT T BRAT GHST A FHAT 8
(1) aRE BT HT BRAT () IS BT AT BRAT

3) faar 1 dre  (4) @Rl @Y HT BRAT

86. An ordinary partnership firm can have:
(1) not have more than 20 partners (2) not have more than 30 partners

(3) not have sleeping partners (4) not have more than 50 partners
f (1) 20 WRRRY ¥ ot TR (2) 30 WRRRY ¥ o WHR
@) PRpT R (&) 50 W & SRy AR
| | " 87. A partnership firm may be dissolved by any partners by glvmg a notice to other
4 ; partners in case : :
| (1) Dormant firm \ (2) Fixed partnership
(3) Purposive partnership (4) Partnersh.lp at will
wv@mﬂmﬁwwﬁﬁﬁwma%mﬂﬁﬁﬁwﬁmww% Sl
| 3w # e
(1) 4 STRIA & ,J.:_(2)WR?IFF§'<TF?IE’T
(3) STATAEH AR & © (4) TR AUE W A

88. A Bill of Exchange dated 29.01.2012 is made payable at one month after date. The Bill
will mature on : i '

(1) March1,2012 _ (2) March 2,2012
(3) Feb. 29,2012 (4) March 3,2012
PG-EE-2013/(Commerce)(D)




29.01?2012@%1@%@%@@_%% < B | ¥' favs uRuag wiar &

(1) #5rd 1, 2012 Eal _ () w2, 2012 @Y
(3) ®xaEd 29,2012 FY (4) =19 3,2012 Bt
89. The controlling authority of a company under the Companies Act is -
(1) General Manager | _ (2) Secretary of the Company
(3) .Director Control . : (4) Board of [I);;'ectors
Pl TR @ gEd FEeh @ Prror o W e &
(1) 99 vees & gy (2) &9 & %frg & Uy
(3) PR Feare @ T @) e 2 3 T
90. "Every ‘company should maintain & .......... where all contracts of interest of
Directors". Which one of the following will complete the statement correctly ?
(1) M.O.U. (2) Register
(3) alog book ' (4) Directors interest log book
TS TR B Wt B Rty s an S AR [ B e
el YT B FE R FRT ? :
(1) THo 3o Jo (2) Mo
(3) @ gew (4) Vet B Rt areh wm gee
91. Which one of the following is true about accounting ?
(1) Accounting is judgemental at times . ,! {#

-(2)’ Accounting is not a language
(3) Accounting does not give information for decisi'_qn‘making :
(4) Accounting does not communicate al] RL of information for financial analysis
T B TR X P § A P e ww R
(1) e I ) s e @
- (2) T v T A
3) é@ﬁﬁﬂaﬁ#ﬁwmmaﬁm
(4) waw¢%qmﬁmwmaﬁwmaﬁm

S5
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92. The term GAAP is used to describe rules developed for the preparation of :

D) PEL A () Balance Sheet ey
(3) Fund Flow Statement (4) Financial Statements
ﬁqqﬁwmnﬂwﬁwﬁﬁﬁrwaﬁﬁmmﬁﬁmﬁﬁ@mﬁmﬁ%
fore forar S &
(1) g @ o ) ﬁgT
(3) ws yarE fdavor ] (4) fo<i faa=or

93. (i) Sales Tax payable A/c is Nominal A/c.

(ii) Purchase A/c is- Real A Vi .
(iii) Drawing A/cis Real A/c.

- Which one of the following is true about these three statements ?.
(1) Only (i) is correct 5 (2) All are correct
(3) Only (iii) is correct . : (4) Only (ii) is correct
() ¥ R T @ T @ e
(i) T @ IR @ BT R
(i) STERTT QAT IRAMAS FRA BT 2 |

g1 A Rl @ A K P R P A w2
(1) e () & _ @) W @ &
3) Bae (iii) 7 2 @ dmEG) g R

94. Formula:1- (I}I/RV + Cost of Assets x 100) is for :

(1) Diminishing Balance Method of Deprediation
(2) Straight Line Method of Depreciation

(3) Digital Square Root Method

(4) Weighted Average Method
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qa:1—(P$/RV+w%am§100) Pt 3 9 farereh forg 2 2
(1) &9 o1 "edl = I &g
(2) & B TR Fw o g
(3) Rfsree wiger fify 2
(4) Ra siwe 8
95. Which one of the following statement is correct ?
(1) Goodwill is a fictitious asset
(2) Capital is equal to all assets minus fictitious asse£s
(3) Net léss is reflected in lower net worth
(4) Net profit is reflected in higher cash balance
R & & B @om wlr R 7 : ,
(1) =ifd t& srarcdfis wwaRy &
(2) Yoft 1 e Tl TRl 3 | sraRafis TR ger @ g @ TR @ R A
(3) P @ o @ I @ SRR B 2 :
) mmmawmmm%

96. Given : Opening Stock of Raw Materials = Rs. 10,000; Purchases = Rs. 70,000; Duty
Drawbacks = Rs. 4,000; Cash subsidies = Rs. 3,000; (losing raw materials = Rs. 5,000.
The amount of raw materials consumed willbe: |

(1) Rs.59,000  (2) Rs.49,000 (3) Rs. 35,000 (4) Rs. 75,000

faar & : o= arh @1 urfe el =10jboo_$o;m = 70,000 %o; Jeh aTqAT fepra
= 4,000 ®o; e HE = 3,000 Bo; 3if~ad wrfY &fam = 5,000 %o |

S WA & UART @Y AR aRTeR wnfr

(1) 59,000%0 &  (2) 49,000%0 &  (3) 35000%0 B  (4) 75,000 %0 B
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100.

W

D'3
‘A', 'B' and 'C' are partners in a firm in the ratioof 3:2: 1. 'D' was admitted in 1/6 for
which 'A’ and 'B' sacrificed equally. The profit sharing ratio will be :
(1) 553:2:2 (2) 4:4:2:2 (3) 5:2:3:2 (4) 4:2:4:2

S, T TAT W ARSI BH H 3:2:1F AT W WEER §| T B wE § 1/6 D fonw
et far 1| 39 1/6 1 ‘o7 T1 ‘g IRIER AT | AT A ST 81

(1):5:302:2 (2) 4:4:2:2 (3)5:2:3:2 4) 4:2:4:2

At the time of dissolution of firm, the balances of fictitious assets are transferred to :

(1) ReaIizati_on' a/cof pattnérs (2) Capitél a/c of partners

(3) Current accounts of partners (4) Partners' personal accounts

T B W W SR RN B A9 B R Rt o @

(1) ERER & STE @t § (2) WERR $ IO @« §

(3) R} & T vt (@) WERR B T A

In 'Single Entry System’, the capital balar:ces are found by preparing :

(1) Balance Sheets . (2) Capital Accounts

(3) Assets Account - (4) Statement of Affairs

Tl Hfafte somel’ # Golt + 97 a7 wrw o W B, e H 9 R e o AR ) S
(1) Rt . () T @

(3) Wt & @ (4) PR faawor

Given : Cash Price of a machine = Rs. 10,000. It was taken on hire-purchase system.
Instalments : 1st year Rs. 3,800; 2nd year Rs. 2,500 and 3rd year Rs. 3,300. Rate of

- interest = 10% p.a. Down payment = 20% of cash price.

The amount of interest in first instalment will be of ‘ ;;

(1) Rs.921 (2) Rs.910 (3) Rs. 821 (4) Rs. 810

faar @ : 7o W BT FHE e = 10,000 o | T IR ughy w wdar war | v
7 a 3,800 %o; fgeli @ 2,500 o 3k drar ad 3,300 To | @ W = 10% Y I
o HHI A = THE e BT 20% |

word fbea ¥ @t @ Afdr Bl 0

(1) 921%  (2) 910%0 (3) 821 %o (4) 810 %o
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